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IS high time that we putanend to the (trend). O O 0O 0O 0O O O O
000000, Itis time to take the advice of I and to put special
emphasis on the improvementof 0 OO0 OO OO OO,0000
DO0O0000000040O. There is no doubt that enough
concern must be paid to the problemof O OO 0O U ,00 0 O O
O 0O00000O. Obviously,0 . If we want to do somethingl] |, itis
essentialthat] DO, 00 0000O00,000000 Onlyin
thisway canwell 0O 00O 0O ,00 O O O O It must be realized that[l
Jo0ododo obon:.dodwww.examda.com
Obviously, if we don’ t control the problem, the chances are that[]
willleadusindanger. D O 0,0 00000000000 ,O00
00000000 O. No doubt, unless we take effective measures,
itisvery likelythatD DO O O,0000000000,0003

[ O Itis urgent that immediate measures should be taken to stop
thesituation. 1 O 000,00 0000000000000
.0 000 From my point of view, it is more reasonable to
support the first opinion rather than the second. O O U O ,00 O O
DO000000000000000.Icannotentirely agree
withtheideathatl OO O OO0 OO O OO O . Personally, I am
standingonthesideof 0 O 0O OO O,0 0 0O 0O O O O. I'sincerely
believe thatl] O U O O O O O Inmy opinion, it is more advisable
todo thantodo .00 OO OO, 00000000 . Finally,



to speak frankly, there is also a more practical reason why1 [ [ [
J0odoooooooooooon O 000
[1 : This phenomenon exists for a number of reasons. First, [
Second, 0 Third, D DO UOODOOOOOOOOO.O0O,O
00,0 00,0 Whydidd ?Forone thingld For another( .
Perhaps the primaryreasonist] OO0 OO O?2000000 OO
OO0000000000000. 1 quite agree with the statement
thatl] the reasonsare chieflyasfollows. O O O O 0O 0O 0O O O,0
0,0000000:000000: Here are some suggestions
forhandlingl OO OO0 OO0OOOOOO OO . The best way to
solvethe troublesisd OO OO OOOOOOO OO People have
figured out many ways to solve thisproblem. O O OO0 O 0O O O O
DO000000.000000000 : Asfar as something is
concerned, 0. O O O O O, Itwas obvious thatl [0 OO 0,07 . It
may be true that[d , butitdoesn’ tmeanthatd OO 0O O 0O O,0
0000000 Itisnatural to believe thatld |, but we shouldn™ t
ignorethat] 0O 0O.00000,0000000¢0.Thereis
noevidencetosuggestthatll D OO OO OO0 O0O0OOO0OO
Jo0odoooboooodoooboooooooo,ooa
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